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(10) Social Science (E)
Question Bank-4 (December, 2022) pate: 08-12-2022

Section A

e Select any five questions from the question given in A, B, C, D and E.

(A) Match the List: [05]
A B
(1) Subhashchandra Bose : (a) 18year
(2) Montague Chelms Ford : (b) 235
amendment
(3) Rightto vote :  (c) Netaji
(4) Barometer of Democracy :  (d) Rainy Season
(5) Tropic of Cancer . (e) 1919
(6) June to September . (f) Elections

(B) Select the correct options from the options given : :

(1) There were members in Simon Commission.
(5,6,7,8)

(2) Which is the season of Retreating Monsoon in India ?
(March-may, October-November, January-February, July-August)

(3) Which person compares Dandi March “Mahabhinishkraman” ?
(Mahadevbhai Desai, Maulana Azad, Sardar Vallabhbhai Patel)

(4) In May, very hot wind blow is known as
(Loo, Norvester, Amra Varsha)

(5) Who appoints the judges of supreme court ?
(Prime Minister, President, Vice President)

(6) The maximum age for a judge of Supreme Court is

(55, 65, 75)



(C) Answer the following True or False :
(1) Subhash Chandra Bose died while opposing Simon Commission.
(2) Quiet India movement started in 1942.
(3) Aperson being appointed as a District Judge should be a citizen of India.
(4) Supreme Court is located in Ahmedabad.
(5) Hotwind blow from December to February.
(6) India is a country of seasonal wind.
(D) Answer the following in one word :
(1) Under Nehru report demand of which type government ?
(2) On which date Gandhiji started Dandi Yatra.
(3) In which state the high court of Mizoram and Tripura located.
(4) The head quarter of legal and service center in situated at ?
(5) What name given to 'October Heat’ in Gujarat ?
(6) Atwhich place in Meghalaya state it rain maximum.
(E) Choose the correct option.

(1) What is Dominion status ?

(A) Dominion Freedom (B) Secularism
(C) Complete Freedom (D) Dictatorship
(2) Who was the British Governor General during the Partition of India ?
(A) Montague Chemsford (B) Wellesely
(C) Mountbatten (D) Dalhousie

(3) Which organization has been formed to settle the complaints of the
consumers ?
(A) Free Judicial Counseling Centre
(B) Civil Court
(C) Consumer Forum
(D) Small Cause Court
(4) Who can take a Counsel of the Supreme Court
(A) Prime Minister (B) President
(C) Vice President (D) Defense Minister



(5) By which name are some showers at Malabar Coast know as -

(A) Anar Varsha (B) Banana Varsha
(C) Amra Varsha (D) Snow Fall
Section B
Answer the following as required : (Any 5) (2 marks each) [10]

(1) Why people of India boycott the ‘Simon Commission” ?
(2) Mention the rules of “Azad Hind Fauj”.

(3) When was the ‘Lord Mountbatten plan presented ?

(4) Which people took part in the Quit India Movement ?

(5) When power was transferred to India by the British, who was appointed as
the First Indian Governor General of India ?

(6) Name the various Subordinate Courts.

(7) State the required qualifications for being appointed as the Judge of the
Supreme Court.

(8) Explain the process of impeachment.
(9) State the required qualification of the Judge of the High court ?
(10) Draw the figure of earth and show the following.
(i) Tropic of Cancer (2) Equator
(11) What do you mean by snowfall ?
(12) Give introduction of ‘October Heat'.
(13) Explain the seasonal cycle of India.

(14) Into how many branches are the ‘North-West’” monsoon winds divided ?
Which are they ?

(15) “Judiciary is the foundation of democracy”. Explain.

(16) The Supreme Court is considered as a Court of Records ?

(17) Explain ‘The High Court occupies a key position with reasons.

(18) From which regions of India Dandi Yatra passes through.

(19) Give information on round table conference.

(20) Give information about ahmedabad strikes, during the Quit India movement.
(21) Name the countries which have monsoon type climate.

(22) How latitude effects the climate of the area ?



(23) What does ‘Jet stream’ means ?
(24) Explain Mavthu.
(25) What does ‘Rain Break’ means-

Section C
Answer the following questions as directed : (Any Two)
(Each question 3 marks) [06]
(1)  ‘Quit India Movement’ and the various incidents of the movement.
(2)  Write in detail about the role of Azad Hind Fauj in achieving freedom for India.
(3) What immediate problems of independent India ? Explain.
(4)  Explain the ‘importance of Judiciary’.
(5) State the Power under the original Jurisdiction of the Supreme Court.
(6) Explain the Jurisdiction of the High Court.
(7)  State the qualification and Jurisdiction of district Judge.
(8)  Factors Causing seasonal change. Explain.
(9)  Write Short Note on cold Weather season of India.

(10) Give information on the correct blowing over the Bay of Bengal.

Section D
Answer the following in detail : (Any one) (Each question carry 4 Marks) [04]
(1) Write short note on Quit India Movement.
(2) Write Short Note on Subhash Chandra Bose
(3) Independence of Judiciary.
(40 Describe the effects of Climate on human life.

(5) State the factors affecting climate.
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Gujarat Secondary and Higher Secondary Education Board,

Gandhinagar
(11) Science (E)
Std-9 Question Bank-4 (December 2022) Date:07/12/2022
Instruction :  The School will have to conduct Kasauti by Preparing 25 Marks

question paper as per the instructions given in the question bank.

Section-A

* Total 26 Questions are given in this section. Choose any five questions
from the following : (1 Mark for each) [05]

(A) Select the Correct Option.
(1) The SI unit of Pressure is ..........cecvueuee. .
b /°? (B) Nm?

(C) Nm (D) N
(2) The value of G iS cocvvreeeverreeene .
2 2
(A) 6.667 x 10711 T{% (B) 6.673 x 10711 f{%
Nm? Nm?
(€) 9.8 K—rgnz (D) 98 K—rgnz

(3) Which device is used to determine the purity of a sample of milk ?

(A) Hydrometer (B) Barometer
(C) Lactometer (D) Speedometer

(4) Which of the following is a rock bee ?
(A) Apis Cerena indica (B) Apis dorsata
(C) Apis florae (D) Apis melifera

(5) Which of the following fish are bottom feeders ?

(A) Catlas (B) Rohus
(C) Mrigals (D) Grass Carps
(B) Fill in the blanks :
(6) Mass of the earth is kg.
(7) is used for determining density of liquids.
(8) Density of water is Kg/mg.

(9) The crops which are grown in rainy season, called

(10) Milk producing females are called .



(C) True or False:

(11) Gis the universal gravitation constant.

(12) The thrust on unit area is called Force.

(13) Archimedes principle is based on fluidity.

(14) Bee-keeping is done for the production of honey and wax.
(15) Prawns and mussels are not shellfish.

(16) Continuous use of chemical fertilizers increases soil fertility.

(D) Match the following :

(17) Section-A (Physical Quantity) Section-B (Unit)
1. Mass (i) N (Newton)
2. Weight (ii) S (Second)
(iii) Kg (Kilogram)
(18) Section-A (Symbol) Section-B (Value)
1. G (a) 9.8 m/s?
2. g (b) 7.4 x 10%2Kg

_ 2
(c) 6.673 x 10711 Nm /ng

(19) Section-A Section-B
1. Foreign cow 1 Sahiwal
2. Local cow (ii)  Bubalis

(iii)  Brown Swiss

(20) Section-A Section-B
(Species of Honeybee) (Features of Honeybee)
1. Apis cerena indica (@) The little bee
2. Apis dorsata (b) The common indian bee

(c) The rock bee
(E) Answer the following in one sentence or in one/two words :

(21) What is gravitational force ?

(22) Which scientist was found out the value of ‘G’ by using sensitive balance ?
(23) What is the mass of moon ?

(24) What is animal husbandary ?

(25) Name two Crops which provide us carbohydrates.

(26) Name any two oil seeds.



Section—B

o Total 25 Questions are given in this section. Choose any five question from
the following : (2 Marks for each) [10]

(1) State four uses of Archimedes’ principle.

(2) Write importance of universal law of gravitation.

(3) Give reasons - The cork floats while the noal sink in water.
(4) Buildings have wide foundation-Explain with reasons.

(5) Why loaded vehicles have much wider tyres ?

(6) What is pressure ? Write is SI unit.

(7) The mass of substance is 10 Kg. What is the weight of that substance on the earth ?

(8) What is buoyant Force ? On what does the magnitude of buoyant force depend ?
(9) What do you mean by Free Fall ?
(10) Relative density of silver is 10.8. The density of water is 1000 Kg/m3. What is the density

of silver in SI unit ?

(11) Why does a block of plastic released under water come up to the surface of water ?
(12) Why is the weight of an object on the moon é th jts weight on the earth ?

(13) How many nutrients are required for the plants ? how many of them are supplied from the
soil ?
(14) What biotic and abiotic factors are responsible for losses of grains during storage ?

(15) How should be the sheds of the animals ?
(16) How does the external and internal parasites affect animals ?

(17) Write the advantages of bee-Keeping.

(18) Name four popular marine Fish.

(19) On what does, the quality of honey depend ?
(20) Why are the Italian bee has more importance ?
(21) Write two benefits of cattle farming ?

(22) What is intercropping ? Give one example for it.
(23) Why is the crop rotation important ?

(24) Give information about vermicompost.

(25) What are the effects of deficiency of nutrients on plants ?



Section - C

o Total 10 Questions are given in this section. Choose any two questions from the

following : (3 Marks each)
(1) Write three-three points of differences - Mass and Weight.

(2) Differentiate between Thrust and Pressure.

(3) What is Density ? Explain relative Density.

[06]

(4) What is gravitational acceleration ? Calculate the value of gravitational accelerational ‘g’.

(5) What are the desirable characteristics for crop improvements ?
(6) Write three-three points of differences - Kharif Crops and Rabi Crops

(7) What are weeds ? Write some method to remove weeds.

(8) Write the names of the plants from which we get Carbohydrates, Proteins and Fats.

(9) Explain Marine Fisheries and Inland Fisheries.
(10) Write a short note on Chemical Fertilizers.

Section—D

o Total 5 Questions are given in this section. Choose any one question from the
following : (4 Marks each)

(1) Write universal law of Gravitation. Derive its formula.

[04]

(2) “The nail sinks in water while the cork floats on water”. Explain with the help of an activity.

(3) Write a short note on - Poultry Farming.
(4) What is Manure ? Explain the types of manure.

(5) What is Irrigation ? Explain different methods of irrigation.
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gsHl oLl 531 (518 uel Ui usllell) scllel UL (E38ell 2 QL) [10]

(1) 2Ug[AHL L PQ AR 20l RS Aso{lontal (g Oul BE B. %l LPOR : LZROQ=5:7 &2,

dl A weuRAL 20wl

(2) A UULS ABoll clud(etss B ol (g P 2wl ye slel, dl Aol 521 5 P 3 A Aol B

2l AMlet wAR wAg B.




(3)2Us(AHi OP = 0Q el OR = 0S Al ealal ¥
(i) APOS  AQOR ual

(i) PS || RQ

R Q

P S

()3 (3010 Gaetal ((lgA 301 walell Ul s,

(5)10 A+l Ruuvise] A AU RULISIHL (Aeteset 53,

(6)AABCHL ZAsll (3euss AD W BCal ol 8. A 5A 3 AB = AC U A AHBoy
EEER]

(7)AABCo{l AHlot tdigll AB Wl ACatl HEAGIg WajsA E Ual F B, AN 5 ¥ BF =

CE.

B c

(8)6 AL Hiuoll vyl ctol UMy AslQLell Ul 53,

(9)7 Al Ruuvis Ul As viuelg wWdLN 45%il wElell Ut 53,

(10) BHL AB = AC 8lal Adl AHBouy A5l ABC ® APL BC &l dl /B = ~C dlldd 52
(1) A HiB=,80.%AB=7uABC=8ALaaAA {luURM@ MA

(12) AABC %ol APQRH( /B = /P, /C = /Q Aol BC = PQ, %! ZA = 50° %ol /B = 75°

slel dl /R aldl.



(13) A A B % LA = 80°ual /B = 30° 8l Al £Z of Hiw 0.

(14) AABC  APQRAAB=53{l,BC = g Al sl Ac = s Al Sl AL A ol uRAEA
el

(15)  uH(eiy (As\eL ABCHL AB = AC ® BE = CD &l Adli (Glgll D ¥l E A BC UR &

% vglAul e20dct ® A At 5A ¥ AD = AE
A

B D E (o4
(16) Ws(AHL QT L PR, » =400ual .« = 30082 dAlxHal AN
P
30
.
40' Y/ X
Q S R
(17) ws(AHL 8L AB || DE 4BAC = 35° ual .~ =5308adl~ Aadl
A B

35




(18) ws(AHL £PQR = £PRQ Al U(Ad 5A ¥ £PQS = ~PRT
P

. P N

S Q R T -
(19) wslAHL OP, 0Q, OR el 0S AUR (35BN B A AUAA 5A ¥ £POQ + LQOR +

<
~

/SOR + /P0OS = 360°.

v

(20) wUs(AHL AB || CD el CD || EF Wal EA L AB ® %l /BEF = 55° &lal cll x, y Al

zoll Hel 2.

H N N

Cc

AJ E




(21) ds(Qul L AB Wl CD, OHI BE B %l LAOC + /BOE = 70° ol /BOD = 40°, dll

/BOE 3al [Quild ~COE Rndl

c E

A o B
D

(22) SIR51QL Aol Y810l cautuvai Wl
(23) A UAHLAR wAll Blestell cotcll Wefslalell ual wAsleell decll Hls 1A B,

(24)AABCHL ZA: Z/B:Z =1:2:38A LA ol olul % wRURA el
(25)A Hl = AALCADUESIADA LCAD=70° HaA A A <l QA
I EIEMENDO
[Qewot - ¢
N A ol Yslloll YEL-R Grlr Ul (E3S0ll 3 9JQY) [06]

(1) ws[@QAHL 0S il PQR UR B. (301 OR A4l (301 OT A AaisN LPOS el £SOQ sl

s\l (Beuess ® %l ZPOS = x dl ZROT 2.
R s

o
o
[»] )

(2) BULAB = AC & dcll A ol AU AD B. Al AAd 5A ¥

(i)  AD 3 BCa galldl 8.

(i) AD A ZA o £a0 8.
(3)8 Al Rutvisell At [Bewessell uUatl 531 Ustletl YEL AVl
(4)A0ct 5A 3 AslQLetl 22 WRUAl HiUsll YRl 180° L B.

(5) /A A /B SRS ® % LA = 4x + 10 Al /B = x + 5 8l Al ZA wal /B 2.



(6) vl (Betessell A 45%i wallell sl 531 Yel Aul.

(7) dUsAQHL 2uL XY Wl MN, 0 (gHi BE & LPOY = 90°ua a: b = 2 : 3, dl C 2.

(8)%Hl AD = BC ol ZDAB = ZCBA &lal ddl Aslel ABCD & WA s % :
(i) AABD  ABAC
(i) BD = AC
(i) ZABD = ZBAC

D
A

Cc
(9)APQRHL PQ = PR ol PO HtLU B Allld A ¥ £QPO = /RPO

(10) URUR A (gl Bedl A 2wl /vl m &l UMt AUAR (g P 2uAct B @ vusldui
galddt B Wl A ¥ vl AP Adell clRAstL vRlal geldl B,




[@Qewal - D

e A A As Yslell [Qoldclirk Gl UL (EISll 4 dJRL) [04]
(1) ® AslaHl B = 60°, £C = 450w AB + BC + CA = 11 A+l 8lal dcll AABCo{l sl
53U

(2)QR = 6 A £Q = 60° Al PR — PQ = 2 AL &lat Aclt (A5l PQRe(l Ul 52,
(3)ollAatl vRUA{l UL SR,

(i)  60°

(i)  90°
(4)Aolct 52 ¥ sul A steslal Aslaell Well WL oy B.
(5)RUL m ol Uil n W AHAR BN B Aol il /A WL m Bl L noll BlESL B ZPER

= 1100 8l l csloll Wel £2, 23, £4, /5, £6, £7, /8 2.

=
N

3
v

v



Gujarat Secondary and Higher Secondary Education Board,
Gandhinagar

(12) Maths (E)
Question Bank-4 (December, 2022) Dpate: 08/12/2022

Syllabus : Chapter 6, 7, 11
School will have to conduct Exam Kasauti by preparing question paper of 25 marks as per
the instructions given in the question bank.
Section-A : Total 25 questions are given in this section.
Choose any five questions from the following.
(1 mark each) [5]
Section-B : Selectany 5 questions from section B of question bank.
(5 Question each carries 2 Marks) [10]
Section-C : Selectany 2 questions from section C of question bank.
2 questions (each carries 3 marks) [6]
Section-D : 1 question of 4 marks. Select a question from section D of question bank.

(1 Question 4 marks) [4]
SECTION-A

e Select any five questions from (a), (b), (c) and d [05]

(a) State true or false:

(1) Measure of an acute angle is more than 90°.
(2) Each pair of corresponding angles is equal.
(3) ATM cards of the same bank are not congruent.

(4) Points on the same line are called non collinear points.

(5)In APQR, « = ZQthen QR=PR
(6)Measure of supplementary angle of a complementary angle of measure 35° is 125°

(7)180° < t <360° then tis areflex angle.



(8) If a transversal intersects two parallel lines, then each pair of interior angles of the some
side of the transversal is equal.

(9)Each pair of alternate angles is equal.

(10) AAA is one of the congruence conditions.

(b) Select the correct alternative from the given alternatives :
(1) Measure of a complementary angle is

(A) between 0° and 90° (B) 90°

(C) between 90° and 180° (C) between 180° and 360°
(2) Measure of complementary angle of 60° is

(A) 30° (B) 90° (C) 180° (D) 120°
(3) complementary angle of supplementary angle of 114° is

(A) 66° (B) 34° (C) 24° (D) 76°

(4)Sum of all the exterior angles of a triangle is

(A) 180° (B) 360° (C) 720° (D) 1080°
(5) In AABC, AB = AC and £B = 50° then measure of angle A is
(A) 50° (b) 100° (C) 80° (D) 40°
(6)Sum of angles of a triangle is
(A) 360° (B) 180° (C) 90° (D) 0°
(7) In AABC, AB = 5 cm, BC = 6 cm, then length of AC is less then ,

(A) 4 (B)5 (C) e (D)1
(8)In APQR, PQ = QR = PR then measure of each angle is

(A) 30° (B) 45° (C) 60° (D) 90°

(9) If measure of the sides are in cm. In which of the following construction of a triangle is not

possible.
(A) 4, 6, 12 (B)3,4,5 (C)5,12,15 (D)7, 8. 13

(10) In AABC, AB=5.2cm, BC =8.3 cm, then AC = is not possible.
(A) 11.8 (b) 4.6 (c)10.5 (d) 2.8



(d) Fill in the blanks :

(1) Sum of angles in linear pair is

(2) Total number of one-one correspondence between the vertices of triangle are

(3) In APQR, PQ = 3.5cm, QR =5 cm and RP = 6 cm then is the greatest agnle.
(4) In AABC, ZA = 50°, #B = 80° then is the longest side of the triangle.

(5)Measure of an obtuse angle lies between

SECTION B

Answer in short : (Each carries 2 Marks) [10]

(1) In figure, lines PQ and RS intersect each other at point 0. If ZPQR : ZR0Q =5:7 find all the

angles.

(2) AB is a line segment and line [ is its perpendicular bisector. If a point P lies on ], show that P is

equidistant from A and B.
|




(3) In fig. OP=0Q and OR=0S then prove that

(i) APOS AQOR (ii) PS || RQ
R Q

O,
P S

(4) Construct an angle of measure 30° at the initial point of a ray.

(5) Divide a line segment of length 10 cm into two equal parts.

(6) In AABC, bisector AD of ZA is perpendicular BC. Show that AB=AC and A is isosceles.

(7) E and F are the midpoints of equal sides AB and AC of AABC Show that BF = CE.
A

B c
(8) Construct on equilateral triangle of side 6 cm.
(9) Draw line segment of 7 cm. Construct an angle of measure 45° at one of the end points of the
line segment.

(10) AABC s isosceles triangle with AB=AC. If AP_L BC then show that ZB = ZC.

(11) In AABC, £B = ZC. If AB=7 cm and BC=8cm. Find perimeter of AABC

(12) In AABC, and APQR, /B = /P, Z/C=£Q and BC=PQ, If ZA=50%and «B=75%find £R.

(13) A A . IfZA = 80%and «B = 30° find measure of £/Z.

(14) AABC  APQR.IfAB =5 cm, BC = 8 cm and AC=6 cm. Find perimeter of APQR.

(15) Inanisosceles AABC, AB=AC D &E are points on BC such that BE=CD as shown in figure
show that AD=AE



B D E c
(16) Infigure.If QT LPR, .~  =40%and = = 30°find X ¥al
P
30
&
a0’ Y/ X
Q s R
(17) In the given figure, if AB || DE, ~BAC=35" and = 53 Find &
A B
35
C
53
D E

(18) In the given figure Z/PQR = ZPRQ, show that Z/PQS = ZPRT
P

v

AN
w9
3]
A
-



(19) In figure OP, 0Q, OR and OS are four rays. Prove that ZPOQ + ZQOR + ZSOR + ZPOS =
360°.

S R

(20) In figure, AB || CD and CD || EF. Also EA L AB.If ZBEF = 55°. Find values of x, y and z.

H N N

Cc

AJ E

v v v

(21) In figure lines AB and CD intersect at 0. In ZAOC + /BOE = 70° find ZCOE.
[ E

A
v

D

(22) Define : Supplementary angles, Complementary angles.
(23) If a transversal intersects two parallel lines. Write the number of pairs of corresponding

angles and vertically apposite angles.
(24) InAABC, ZA: ZB: £ =1:2:3then find measure of all angles of AABC

(25) In AABC, AB = AC and ZCAD is an exterior angle of AABC. If ZCAD = 70°. Find measure of
each angle of AABC.



SECTION C

Answer the following questions : (Each carries 3 Marks) [06]
(1) In figure ray OS stands on a line PQR. Ray OR and ray OT are angle bisectors of ZPOS and

ZS0Q respectively. If, ZPOS =x find ZROT.
R S

< .
Y

P (o] Q”

(2)AD is an attitude of an isosceles triangle ABC in which AB = AC in which AB=AC. Show that
(i) AD bisects BC

(ii)  AD bisects ZA

(3)Construct the perpendicular bisector of line segment of length 8 cm. Write steps of

construction.
(4) Prove that sum of all the angles of a triangle is 180°.
(5) £A and £B are complementary angles. If ZA =4x+ 10 and ZB =x+ 5 then find ZA and £B.

(6) Construct an angle of measure 45°. Write steps of construction.

(7) In figure lines XY and MN, intersect at 0. If ZPOY =90°and a:b=2:3 find C.

N
P
M
a
< b\ g
~ X 0 Y 7



(8) ABCD is a quadrilateral in which AD = BC and £DAB = ZCBA prove that
() AABD  ABAC

(i) BD=AC
(i) ZABD = ZBAC
D
A
B
Cc

(9) In APQR, PQ =PR and PO is a median prove that ZQPO = ZRPO
(10) P is a point equidistant from two lines  and m intersecting at point A. Show that the line AP

bisects the angle between them.
L

A
L
v



SECTION D

Answer the following in detail : [04]
(1) In AABC, ZB =60, ZC=45%and AB + BC + CA = 11 cm. Construct AABC

(2)QR=6 cm, £Q=60° and — = 2 cm Construct APQR.
(3) Construct following angles :
(i) 60?
() 90’
(4) Prove that hypotenuse is the longest side of a right angle triangle.
(5) and lis a transversal. If ZPER = 110°. Find measures of /2, /3, /4, /5, /6, /7, and /8.
L
P
: 2
m<—s o —>
3
3 _Ke
Ne 8\VF u >



TR T Areafdie AR 3= Areafds Refor @S,
IMHAIR
(12) 70T (H)
he&TT - 09 UHdd — 4 (GTFaR 2022)  feiw : 08/12/2022

I : AF g A & EAgaR e &Y 309 AR 25 376 Hr FAEldT i
gl |

AT — A 5 W 5 3P (AP P 1 37H)
gAde d QAT A F G 710 fFsl 5wt o gde o FalEr a1 fasmer A
IR & & |

famT - B 5 W 10 3 (UAF & 2 3D)
gAde d QAT A F BT 91 fFsl 5 gt o gde o walEr o1 fasmer B
AR T R

fdHmr - C 5 U 5 3F (YAF FT 3 37H)
gadd F R A F G a1 fJFfl 2 ualt & gde X waler @ fasmer C
AR T R

fdHT - D 5 U 5 3F (YAF FT 4 )
g F e A #F T st Rl 1wt @t udg T HEld & fasmer D

IR T §
faamTr - A
o fAFfAR@T (a), (b) AT (c) A ¥ Al UrT ST & gTe<) Hifow |
(AP T 1 3h) [05]

(a)A=faf@a Y 9 § AT 3T I Id18T :-

(1) =geTepIoT T AT 90° 3fA% BT & |

(2)FITd 9N T RS NS FATT Bar & |

(3)Th & dF F ATM & & 1S F Faforaadar a8 @ & |




(4)Teh & W W 3T gU g3 & 3wy fdg #ed ¢ |

(5)APQR & « = £Q a@ QR = PR

(6)35° & IUT QRUTRIOT & HYIH HIUT &I AT 125° § |

(7)180° < t < 360° &, a tahr ufdadl ioT BT § |

(8)fad® @r & uHh & AR & Hd: PIUT FA o § |

(9) T PO H UAdh NS (JIA) A 281 & |

(10) P P Pl Tg FATHAAT HT WAl H T Th MW & |

(b)RFTAfET YT T 9=, 3 UPR Tel Aheud THGIN dih Rephedd ARY

(PP POTH AT AAE |
(a) 0° & 90° & o (b) 90°
(c) 90°8 180° & & (d) 180°& 360° & &
(2)60° & AT & PIOT & YD PIUT HI AT % |
(a) 30° (b) 90° (c) 180° (d) 120°
(3)114° & AT & HIUT & FYGH DIOT H ATY e |
(a) 66° (b) 34° (c) 24° (d) 76°
(4)F9gst & @l gfesaio & #Agl &1 g Bl & |
(a) 180° (b) 360°  (c) 720° (d) 1080°
(5)AABC & AB = AC dar «B= 50° &, d ZA
(a) 50° (b) 100°  (c) 80° (d) 40°
(6)FHST & Al PO & AGT BT AT T & |
(a) 360° (b) 180°  (c) 90° (d) 0°
(7)AABCH =5cm, BC = 6 cm @I, dl AC &I Jars cm ¥ &H BT |
(a) 4 (b) 5 (c) 6 (d) 11
(8)APQR & PQ = QR =PRI, dl 38h Ucddh DIUT &I AT o |
(a) 30° (b) 45° (c) 60° (d) 90°
(9) HATHT & AT cm # @, o Wq S H AT AL B ST HhAl § |
(a) 4,6, 12 (b) 3,4,5 (c)5,12,15 (d) 7,8.13
(10) AABC & AB = 5.2 cm, BC = 8.3 cm @, a AC = cm 9T e § |

(a) 11.8 (b) 4.6 (c) 10.5 (d) 2.8



(o) wmt B o P :

(1) ¥f&H-gaA & ProT &1 AT BlaT ¥ |
(2)ar FsgEt & T o Teh-Teh HIIAT & Fehcll & |
(3)APQR #PQ=35cm, QR=5, cmdUTRP =6 cm &, a T &1 gaq ol (@3)) Han
gl |
(4)AABC 3 A =500TaT ~«B =80 &I, ar oraf |
(5)31f% @oT FHT AT & dF BT ¥ |
fasmer - B
o W& H IUEAT b 3 &fAT :- (UAD &b 2 3IH) [10]

(1) 3mpfad &, [@T PQ 3R RS WEW fdg O W yfdese &l ¢ | afe
ZPQR : Z/ROQ=5:7 &, dr G Plor AT HITaT |

(2) I% 1@rE@s AB & odiAfgHerd & | I fig P X w @, ar g #ifaw & P
JE A AT B ¥ FAS g W & |

(3)3Mpfd A OP = OQ da1 OR = OS &, a &g Hifaw
(i) APOS  AQOR ol

(i) PS || RQ



(4)S g T@ foReor & gRHD foig X 300 & o i T HIfFT |

(5)Teh 10 cm IWIES Pl &1 FAA Y@@ d fAafag Hifaw |

(6)AABC H ZA & GHATGHTSIH AD I% BC W oid & | g Hfaw fo6 AB = AC dar
A FAGHSS R ¥

(7)AABC 3 SHeT T3 AB T AC & HLATg haer: E aum F &, &g Hifew BF =

CF.
A

B C

(8)6 cm AT &I AT dTel Teh FHaTG TSI T T7A1 HITST |

(9)7 cm & U (WEs & TW Id: faeg W 45° & PIoT i T HIfST |

(10) AABC T wafgarg Bofst & et AB = AC ¥ | If& APL BC @, a@ g fifiw s
/B = ZC.

My a HsB=,C% 1 3EAB =73aBC =8cm g, dl

A HURAT A HIfST |

(12) AABC TdaT APQR # «B = /P, ZC = 4Q du1 BC = PQ, af¢ A = 50° dam B
= 750 &, d ZR A1d HIfAT |

(13) A A 13 LA = 80°TAT LB = 300N, A LZ P ATY AT HITAT |

(14) AABC APQR § 1TCAB=5  BC = 8 cm durT AC = 6 cm &, dl A Gl
ufkea (aRfAfA) T Hifce |

(15) Tsh gAfgaTg et ABC Toraadt AB = AC &, &I 9T BC W al fdg D 3R E &
UhR & 6 BE = CD & | 34feiw f6 AD = AE % |



(16) 3Mpfd & QT L PR, .« =400gar = 30°@, df Xaur <Ad i |
P

30

40 Y/ X
Q S R
(17) 3mpfd & AB || DE /BAC = 35° g1 .~ =53°@, a »  &1d hifFv |
A B

35

(18) 3mmpfd & /PQR = /PRQ &, dl f&g #faw f& ~PQS = ~PRT

P

< S

~ s Q R T i

(19) 3mpfad & OP, OQ, OR 3R OS IR fFur & | g Hifaw & ~POQ + ~QOR +
Z/SOR + ~POS = 360°.




(20) 3mMpfd # AB || CD 3R CD || EF & | &1 &, EA L AB § | afg /BEF = 55° g,
A x, y 3R z F J9 I HfGw |

E
55

(21) 3Mepfd & T@T AB 3R CD fig 0 W ufdedq &l & | Ifed LAOC + £BOE = 70°
% 3k «BOD = 40° &, @ «BOE gur ZCOE ¥1d ffaw |

c E

(22) Qe HIUT JAT HYeh i1 HT gRHATET faf@T |
(23) @ AR (@13 B P gRT ThleeRor HioT a1 NuifFgE Hior & b Sis

(Z7A) T § 2
(24)DABC & LA : /B:/Z =1:2:38,dTA & g P & AT A9 HifAT |
(25)A H = guT«CADIRTHIUTE I LCAD= 700 @, a@ A P dar Pror

AT ST |



fasmr - C
o fAF &1 g1 AT HTAT :- (YA & 3 3Hh) [06]
(1) 3mpfd 3 OS @1 PQR W & | fRtor OR 3R (3201 OT werer: £POS 3R £S0Q &
gaAfgarsi & | Ife ZPOS = x &, a ZROT J1d Hifaw |

R S

N
v

(2)A  # AB = AC daT AD <@ &, a g Hriaw :-
(i) AD Ig BC &l FAGHITSIT T & |
(i) AD IE /A &t gAfGHITSIT FRar & |
(3)8 cm YWMES & AdHATEHISTD DI AT Hifaw |
(4)fag AT 6 fne s & At o & e 180° BT | |
(5)ZA TAT /B @H HIOT & | I LA = 4x + 10 T 4B = x + 5 @&, df LA daqr /B
JTd HIfST |
(6) BT & FATgHTSTd fT gRT 45° & PIoT i AT b, =TT faf@w |
(7) 3mpfd & @@ XY 3R MN, g 0 W gfdede &l & | afe ZPOY = 90°
3iIRa:b=2:3a C A HFT |

A
P

(8)3mmepfar 3 Tt ABCD # AD = BC 31X «DAB = ZCBA ¢ | g fifow 6
(i) AABD  ABAC
(i) BD = AC
(i) ZABD = ZBAC



o
(9)APQR & PQ = PR @ur PO #fegar & | g Hifew [F £.QPO = ZRPO

(10) g A W Ufd=dg X arell ar @3 [ 3R m ¥ FHgEy ve g P & | ot 6
Hpfd H G s—r ¥ | cigT fR Y@r AP Q| (Wi F @ & BT Al
gafgSa adr & |

L

N

X P
¢
M
faomr - D
o A & T A AT | (TAF & 4 ) [04]
(1) T 3T AABC 1 T hifaw o # «B = 60°, £C = 45°3 AB + BC + CA =

Mnemég |

(2)Ts st PQR & e FIfST, fS@d QR = 6 cm £Q = 60° IR PR L PQ = 2
cm & |

(3)AFafafEa ol & T fifsw -
(i) 60° (i)  90°

(4)g 73T &5 FHeoT P F FoT T & ST Al ¥ |



(5)3Tpfa & YW m TAT YW N WER AR & JAT @M [ I 3@ m @1 941 n
de § | Ifg ZLPER = 110° @, af AW T L2, /3, L4, /5, /6, L7, /8 JAd

ST |

N
v

v




%A HIAMS Al GRUAR HitMs [Qaal oll§, alitlletoR

BA1e1R - 2022 ysdls AR A Yeaisel ulsal dio{l uoitsll

Y AstlAl
.09 A €10 - xRl (F.L/S.L), qHURs [QAstat, [Qstiet, d@ldell

Yaols LR 25 90Le] ustual dallrk sall Hide(l YUl

(A) tR0L-09 WA HNRBL-100(l Heliso UlSAl HIZoll YA UIe] a3U

K Qewat - A — As JQlell 05 (UiA) ysl ude 53 [Qewdl — A daur sl YsGlsHi
AUAA (Qewdt — A ot yslHidll slsuel uid ysll ude s31 ystustell [Qewat — A dauR
sclloll 3. UM, $A 05 Ul — Usell As 9[QL (([Aewdl — A Ui Ysll - Ui 2J1l)

— [Qewdal - B — A oulell wiAu ysll URie 53l (Qewdt — B dak sl ysdlsHl AU
(Qewdt — B ol YsHi slsuel win ysll ude s3l ystustell [Qewdt — B duR s2cllell
A WH, $A 05 Yl — YA sl 6l 910l ([Aewdl — B Ui Yl - €21 9J1l)

— [Qewdl - ¢ - 2@ IQlelt A Yl uRie 53 [@Qewdl — ¢ dar s YAsHL AU
(@Qewdt — ¢ ot ysHidl Slsugl A ysll ude s31 ysustell (Qewdt — ¢ daur s:clall
8. — UAsell 23l 9Ll ([Qewdt — C A Y&l - &9 9[1l)

— [AQewdt - b — AR IRl As o yst ude 3| (Qewdl — b dauR sl yYsialsul AUAA
(Qewdt — D ot yslHiell slsunl As yst udie 531 ystualell ([Qewdl — b daur s:cllell
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Gujarat Secondary and Higher Secondary Education
Board, Gandhinagar

(11) Science (E)
Std.-10 Question Bank-4 (December, 2022) pate: 07/12/22

Chapters 3,4,8 and 11
SECTION A

(A)Multiple choice questions :

(1) Name the property of metal which converts it to their sheets ?

(A) Malleability (B) Tension
(C)  Sonorous (D) Conducting
(2) Which of the following method is used to stop corrosion of iron plate used for
cooking ?
(A) Byapply of grease (B) By apply of colour
(9] By apply of zinc layer (D) all above
(3) Which of the following possess a mixture of metal and non-metal ?
(A) Brass (B) Bronze
(C)  Amalgum (D) Asphalt

(4) Which of the following is wrong ?
(A)  Lustorous non-metal - Iodine (B) Liquid non-metal - Bromine
(C)  Liquid metal - Bromine (D) Semi-conductor - lead
(5) Which is the functional group seen in Butanol ?
(A) Carboxylic Acid (B) Aldehycde
(C)  Ketone (D) Alcohol
(6) While cooking if the vassel gets black in colour from out side clearly identifies :

(A) Foodisnot properly cooked (B) Fuelis notproperly burnt

(9] Fuel is wet (D) Fuelis not properly ignited
(7) Identify the following unsaturated hydrocarbon ?

(A)  Propane (B) Propene

(9] Propyne (D) Chloropropane



(8) In which of the following are the inherited characters seen ?

(A) Cytoplasm (B) Ribosome
(C)  Golgi apparatus (D) Genes
(9) Which is the biological term used to create daughter cells seen in plasmodium ?
(A) Budding (B) Binary fission
(C)  Sporulation (D) Multiple fission
(10) Which of the following is not a part of the female reproductive system in human
being ?
(A)  Ovary (B) Uterus
(C)  Vasdeferens (D) Fallopian tube
(11) The twinkling of stars is due to phenomenon.

(A) Dispersion of light due to water droplets
(B)  Refraction of light due to various layers
(C)  Refraction of light due to dust particles
(D)  Total internal reflection due to clouds

(12) The least distance of distinct vision for a young adult with normal vision is about :
(A) 25m (B) 2.5cms
() 25cms (D) 25m

(13) Which of the following holds true for near sightedness OR Myopia ?
(A) A person with this defect has the far point nearer than infinity.
(B)  The far point shifts away.
(C)  The eye lens cannot become thin than its requirement.

(D)  None of above

(B)Fill in the blanks :

(1) is the most reactive metal.

(2) process is widely used to join railway joints or broken parts of
machine.

(3) is the element which possess a high melting point after forming a

compound with oxygen and is also water soluble.

(4) is used as a catalyst in the process of hydrogenation of oil.
(5) is the first element of alkynes series.
(6) 5 12 isthe formula of pentane which forms type of bond.

(7) Sexual reproduction seen in flowering plants is always seen in



(8) is responsible for the cause of Gonorrhea and syphilis.

(9) When no fertilization is seen in female ova then cycle is observed.

(10) In human eye the image is seen on which is caused by lens.

(11) In the process of dispersion of white light colour of light deviates the
least by prism..

(12) The human eye lens can focus on objects at different distances by adjusting the
focal length of the eye lens. This is due to

(C) State which of the following statements are True OR False : [6]

(1) Metallic oxides are mostly basic by nature.

(2) Metals like lead, copper, silver and gold usually react with water.

(3) Nitric acid (HNO3) is a strong oxidizing agent.

(4) For cooking of food highly saturated Fatty acid oil should be used.

(5) A mixtures of 5-8% of acetic acid and water is known as Vinegar.

(6) Valency of Carbon is 6.

(7) Usually saturated hydrocarbon when burnt gives black coloured flame.

(8) Under unfavourable conditions also asexual reproduction is possible.

(9) A plant having either sepals, petals, stamens and pistil present may be considered an
unisexual plant.

(10) Sex determination of a child before birth is an offence.

(11) The phenomenon of breaking of white light into its components is called as
dispersion.

(12) When a ray of light passes from denser medium to a rarer medium its velocity
increases.

(13) The radius of human eye ball is nearly 2.3 cms.

(D) Answer in one word / sentence :

(1) Which form of carbon found in nature is the hardest substance ?

(2) Which is the softest metal that can be cut by a blade or knife ?

(3) Name the components of stainless steel which is practically used in our day to day
life 7

(4) Name the phenomenon which freezes pure Ethanoic acid having melting point 290K
seen in cold weather ?

(5) Which products are obtained when ethanol reacts with sodium ?

(6) What is Catenation ?



(7) Give the names of STD caused due to Virus.

(8) What is placenta ?

(9) Which of the characteristics shows the efficiency in progeny seen in females ?
(10) Explain the function of Iris ?

(11) Which of the following lens is used to resolve the defect of press Presbyopia ?
(12) Asto how many times is the wave length of red light greater than blue light ?

SECTION B

(1) What is amphoteric Oxide ? Give two examples.

(2) Give scientific reasons : Sodium, Potassium and lithium are preserved in oil.

(3) Explain giving example : Thermite process.

(4) Write any two physical properties of lonic compounds.

(5) What are the main components of solder ? Which of its property is useful to formet a
good conductor of electricity ?

(6) Draw the electronic configuration of Ethyne and also state its formula.

(7) Give scientific reason : “Consumption of Methanol can be fatal”

(8) As to why carbon and its compounds are used for burning purpose ?

(9) What is Esterification ? Explain.

(10) What are functional groups ?Give examples of four functional groups.

(11) Is the phenomenon of multiple fission seen in organisms of higher order ? Explain
giving examples with reference of human beings ?

(12) State the significance of DNA in reproduction ?

(13) How does Binary fission differ form multiple fission ?

(14) State the limitations of Asexual reproduction.

(15) Why is vegetative propagation practiced for growing some types of plants ?

(16) Give scientific reason : “A rainbow is generally seen only after rains.”

(17) Give scientific reasons : “Its only the stars twinkle and not the planets.”

(18) Why does a space astronaut see the sky black other than blue ?

(19) What is the colour of Sun during sunrise, sunset and at moon. Explain in detail.

(20) Find the focal length of the lens if the power of lens is +1.5 D.



SECTION C (Marks : 3)

(1) Write physical properties of metal.

(2) Write physical properties of non-metal.

(3) A man went door to door posing as a gold smith. He promised to bring back the
glitter of gold ornaments. An unsuspecting lady gave a set of gold bangles to him
which he dipped in a particular solution. The bangles sparkled like new but their
weight was reduced drastically ? The lady was upset but after an argument the
man beat a hasty retreat ? Can you find out the nature of the solution he had used ?

(4) Discuss the property of the lowest element seen in electrochemical series ?

(5) For purification of metals explain in detail method of electrolysis ?

(6) What are Isomers ? Draw the isomers of Butane ?

(7) Which chemical test is conducted to differentiate saturated and non-saturated
Hydrocarbon ?

(8) Explain sexual reproduction seen in flowering plants ?

(9) What is a flower ? Write and explain different parts of a flower and also state its
function.

(10) Differentiate : Male reproductive system and female reproductive system.

(11) Explain : ‘Tyndall effect’.

(12) What is total internal refraction of light ? Explain any one phenomenon based on it.

(13) Explain the phenomenon of dispersion of white light by a glass prism ?

(14) Observing the figure answer the following questions :

(i) Give the names of questions 1, 2, 3, 4 as pointed.

(i)  Which of the following functions are seen in the figures ?
(a) Formation and release of ova.
(b) Fertilization

(c) Implementation of Zygote.



(iii)  Internal lining of uterus...
(a) Its nature before release of ova.

(b) Ifno fertilization of ova is seen ?

SECTION D (Marks : 4)

(1) Explain the significance of elements seen in the middle of electrochemical series ?

(2) What is corrosion ? State the steps to reduce corrosion.

(3) Explain Alloys with practical examples.

(4) Explain the following process with proper examples :

(i) Saponification process.
(ii)  Addition reactions

(5) Explain the process of usage cleaning of soap ?

(6) Explain physical and chemical process of Ethanol ?

(7) What is adolescence ? State the changes observed in teenagers as they enter the
adolescence phase of life.

(8) State the methods of control family planning ? Explain in detail any one method.

(9) What is Asexual reproduction ? Describe its various types so as to explain in detail
any one of the following ?

(10) Draw and label human eye ? Explain in detail its various components ?

(11) Write a short note on myopia ? State its remedies (figure compulsory)

(12) Ajay works as a house keeper in Mr. Joshi house. One day he complained to his
master that he gets a difficulty in reading letters from his parents. Mr. Joshi
realized that Ajay has an eye problem, so he took an appointment with an eye
doctor who advised him to wear spectacles of a definite power lens. By doing so
now Ajay is happy, and thanked Mr. Joshi.

(i) By which defect was Ajay facing ?

(i)  What must be the factors responsible to cause this defect to Ajay ? Can you
suppose which type of lens must be suggested by the Doctor ?

(iii)  In this whole story state the values opted by Mr. Joshi ?
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(5) ®esY 3 a1g & b Bl F § 2 Hesd &l Bl 1 qUrgd fAgd dRi d IE W
afeger & AT gATdT & ?

(6) 3ATSH &I Folaeld fig dTaa T 3R s@d1 TEACHD FF sy |
(7) M AT F o AT B FaaT woTaTdD § | - PROT AT |

(8) A TG 3HP AMfAhI BT 3UANT HABAX IJFUANNT F $uaa & &7 & =4 e
ST ® ?

(9) TEedieptor JfARRaT 3raTT F=ar 2 AT |

(10)URTATcHS FHg AT FIAT ? 37T Heldl IR YhcHD THE & G0 GIal |

(11)3% el & JEhIRi UIiordl & Hpeld T Al & A1 A& | AT MR &

IETEIUT gRT 37U 3a¥ BT FHIT HIfAT | 3P Uslcded bl JhR [T ST Thdl &
=T ?

(12) 3. td. . (DNA) & Ufdpid a6 Siaa & forw 3maeas =t § 2

(13) fg@sd gg@sa § fohd ghR et § 2

(14)  3ifeil ustet &1 FATET TaBT |

(15) oo Uil & 391 & foT H1fde gada &1 3udier F=7 fhar sirar € 2
(16) @uT & T & SgUey @ &ar & | - &RuT QS |
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(17)  dafas FRor ST : ar fafeaa € Safs g ad feafeara € |

(18)  ToreT 3{AR&TATHT T 3ThIA el Y 08T SHrell AT i Bam & ?

(19)  wRied, GETE 3R AR & G e FE W G b T A A aRada
@ & ¥ 2 UcAS B TALROT HITAT |

(20) el =fh Y Ul fehe < Z¥ ol HAMAT A & fow 38 + 1.5 D &A1 &
o I TaRIBAT & | 3D TIT 31T ofF H Blehd gl A HfAT |

fasmr - C

A& vt & 3 f[aedR @ Afav @ (U & 3 3i) [06]

(1) g3t & sifds U dasT |

(2) T3t & Hifde quTesd garsT |

(3) Ueh &b Ucdeh EX H FaAR T Sl & | 38T A T Hellel Hied o IMEON A
Ugol ol gdAd UeT e o ST T@rm | i dce v far & ue aAfRer s @
& HI 38 &t &, O a8 T [ Rea & 197 &ar ® | 9 Jv h awE
TYHDA I § oliche] SeTehl Tolel Al D & el & | Ie Aol dgd q@l el &

dAT TH-Tadd & TNIT 38 AfRh Pl ST Usdl & | Th SITHH S ae &1 3T 38
e & ugpfad & IR F I Fhd E |

(4) Gforaar Ao g AfAfRamfe arg & fasHvor FasmsT |

(5) arg3it &1 gReeRtoT H fagd 3uaeey TRwhoT JASST |

(6) ITATCHSD HATIIA AT T ? egeed & GHIIAT IATST |

(7) Eq@ AR 31AqH P & drg TEAfAE AR A & fow ud giaor adase |
(8) godr ulal & Afdih ST FHSIZU

(9) gou 37T AT ? T F S AN AR 3AP NMUR W o0 & YhR dd3T

(10) T Jd adF - AR I aF A X TIE Hfaw |

(11) s uHg BT |

(12) argHsNT HUddd 3ATd AT ? argHSAT AU W IR Tear adrsv |
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(13) &g & OsH gRT AT UHIr &7 [A89or FASST |
(14) fa=x fofEa repfa & aEuEl @ @ddiad dd 309 Taiad g & 3R
aIaIg:

(i) fow amw 3mpfa & 1, 2, 3, 4 3R 5 F ATATREA HfFT |
(i) o= T ufehar @l @1 & 2
(a) 3EHITABT BT AAT IR ZHH Hb BT

(b) fS=re

(c) ffRa 3EemiAepr @1 T

(iii) T T 37T dr §ar

(a) 3isfUs & & HSHIABT Hb B & Toel HAT el & ?
(b) I JzARNF & PVTF T N FI AT ¥ ?

faomer - D
frafaf@a st & & fFlt v a1 3R ReaRyE@s QST | (T3F & 4 37®) [04]
(1) Gfhaar Aoh & Feg F W gt @1 fAvp§or FHASST |
(2) TETROUT 37ATT &1 ? olle T TEIRUT Udhed & 3UTT IdTST |

(3) fas g 37Td a1 ? 3ETROT Wied HHASBU |
(4) fAeafaf@a FfAfrar serexor afed FersmsT |



(i) ErgeAterToT TR
(ii) HeheteT 3rfRTRT
(5) aga A wwrs ufshar & frarfafa gasmee |
(6) Tyt & Hifds Ty & TEIfAG JUTYH IdE |
(7) dlaare 3ATT F1 2 TRk & AT @ ¢ arel IRe va oiffes aRada
ISy |
(8) THTAG dr Taffier fafd=at wia o & | FwsmET |

(9) 37l Ustda 7ATT AT ? 3HP UPR TdTh foheel Th ! THASST |

(10) #AAT JF A ARG aTel HPIA TAHR 3TF LT HEN F HT TASST |

(11) f@oe g QW (FANAT) 89 & HRUT Id1v, 39d FaReT & 3uF a9 | 3Ra
3Pl Afed FASTST |

(12) & Sl & OX W 3191 A P H ASE Pl & | Th & 3191 dhedl & 39

ATAT-TTT T TWE J T UF U F dhollh ardl & | A el 399 & 39 &

ZieX & UM o S & | SiaeX ST I AT@ & AEUET ghF g g © | AR

AR ok oG &1 TWHT Ugaa & T 39T & Fed & | T I WATH

Ugeldl & 3R 3 @ e for@ Hhdl § | Mo GA FAY A SRl B ONHR
AT & |

(1) 3797T & 3@ A HF-91 ¥ W 2T |

(2)E® av & fov G¥fag & HRUT IdBT | e I ST Bl Pl T IAT Ugay
Torrg &1 gl 2

(3) 58 fred & A SRl & A T FqeT o yeiia fomFar § |
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Gujarat Secondary and Higher Secondary Education Board,
Gandhinagar

(10) Social Science (E)

Std-10  Question Bank-4 (December 2022) Date : 08/12/2022

(A)

Section - A
Match the following :

Match any five from the given 6 options. (A), (B), (C), (D), (E), (F).

(A) (B)
(1) Elephanta (A) Tuva
(2) Child (B) Geneva
(3) Worm water take (C) 1975A.D.
(4) Headquarters of ISO (D) Gaylone
(5) “Women’s year” (E) Trimurthi
(F) 1980 A.D.

(B) Fill in the blanks by choosing right option.

(1)

(2)

(3)

(4)

(5)

(W)
(M
(2)

Temple was constructed by black stone. Hence ct is called as “Black Pagoda”.

(Konark, Modhera, Bruhdeshwar)

was a main Centre of trade and Commerce and well facilitated port of
Harappan Culture.
(Dholaveera, Lothal, Kalibhang)

State of India has highest ironore.
(Chattishgadh, Bihar, Karnatak)

With the intuition of duty evasion, secretly, without paying taxes, foreign goods are
dumped in a Country. This is called

(Hoarding, Black Marketing, Smuggling)

Index was propounded by Nobel price winner, Indian economist Amartya sen.
(Education index, human development index, life expectancy index)

Explain the following Statements.
Local fishermen call “Elephanta Cave” as “Dhara puri.”

15% march is celebrated as National Consumer’s right day.



(3) With the intention of encouraging girl’s education. School entrance ceremony. And girl
education chariot of festival have been started in Gujarat.

(4) Energy resources hold on important place in the economic development.
(5) Public distribution system controls corrupt prices.

(D)  Answer the following in one or two words :

1) Ajanta Caves are situated in which state ?

(2) Which Country ranks first in the production of Mica ?

(3) Where is the headquarters of world health Organization ?

(4) Which helpline has been started for protection of women ?

(5) Name the Country that has lowest human development index (HDI)

(E) By choosing the correct option answer the following :

(1)  Which among the following is not a type of well ?
(A) Nanda (B) Bhadra (C) Tada (D) Vijaya
(2) Kailash mandir is Situated in which Cave ?
(A) Ajanta (B) Ellora (C) Elephanta (D) None
(3) Increase by Government in supply of what lead to price rise ?
(A) Commodities (B) Grains (C) Raw material (D) Money
(4) Which organization certifies the quality of edible products.
(A) BIS (B) CAC (C) ISO (D) FPO
(5) Which organization works for human welfare ?

(A) UNESCO  (B) UNICEF (C) FAO (D) UNDP

Section — B
¢ Answer the following question briefly (Each question carries 2 marks) [10]

(1) Write short note on Ajanta Caves.
(2) Give an information about the Hindu Caves built during the reign of Rashtrakuta.
(3) Write about Trimurti temple in elephant Caves.

(4) Mahabalipuram was a famous harbour of ancient time explain.



(5)
(6)
(7)
(8)
(9)
(10)
(11)
(12)
(13)
(14)
(15)
(16)
(17)
(18)
(19)
(20)
(21)
(22)
(23)

(24)
(25)

(26)

Qutub Minar is one of the best examples of architecture of delhi sultanat. explain
Write a short note on Agra fort.

Every year National festivals are Celebrated at Red fort. Why ?

Write a short note on fatehpur Sikri.

Write about the churches in Goa.

‘Modern age is known as mineral age’ why ?

Why the use of non traditional sources of energy Has increased in these days ?
Why it is necessary to Control prices ?

What is mineral ?

Write a short note on Manganese.

‘Copper is used since primitive times’ Explain.

Write the special properties of Bauxite.

India hold first rank in mica production. Why ?

why lead is called galena ?

Describe the effects of price rise on capital investment.

Who is a Consumer ?

What do you mean by human development ?

Which new techniques are used to measure human development index ?
‘women are the centre of whole development’ explain.

Explain the steps taken to stop exploitation of women.
Which vaccinations are given to children under child vaccination programme ?

What is “Abhayam yojana” ? Explain



Section - C

e Answer the following question as required.
(each question carries 3 marks) [06]

(1) Write about the construction style of bruhdeshwar Temple.

(2) Write about the construction style of Hampi.

(3) Write note on champaner.

(4)  TajMahel is one of seven wonders of the world explain.

(5) Give an information about cultural heritage of Gujarat.

(6) Explain about Mahablipuram.

(7) Give an information about the sun temple in Konark.

(8) Explain Solar Energy.

(9) As a future Citizen what can you do for the preservation of minerals ?
(10)  Write a note on tidel Energy.

(11)  Write difference between igneous rocks and metamorphic rocks.
(12)  Write short note on Bio-Gas.

(13)  Explain about Coal in detail.

(14)  Give detail information about mineral oil.

(15)  Price rise is both good and bad for an economy. explain

(16)  Whey price rise in controled ?

(17)  State the duties of Consumer in Consumer protection.

(18)  How and in what ways consumer is exploited ?

(19)  Explain the methods of price control.

(20) Write about organization regarding human development at national and international
level.

(21)  Which things must be kept in the mind of a consumer while purchasing.
(22) Give a detailed explaination about the rights and duties of Consumer.
(23)  Write about the Government measures toward the improvement in health.

(24) Write about the discrimination done to female is Indian society.



(25)
(26)

(27)

(28)

Human development index is effected by which things around us ?
What is human development ?

India has a HDI which stand as moderately developed counting to make it developed
what should be done ?

Write the schemes of Gujarat Government for the upliftment of women.

Section-D

¢ Answer the following question is detail.

(each question carries 4 marks) [04]

(1)
(2)
(3)
(4)
(5)

Describe the places of Cultural heritage in Gujarat.
What are minerals ? Classify them.

Write about the level of Consumer courts in details.
Explain the challenges of human development.

Write a note on gender equality.
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(2)

(3)

(4)

(5)

(C)
(1

(2)
(3)

(4)

(5)

(D)
(1

(2)
(3)
(4)
(5)
(E)
(M
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(Brg9Te, fOeR, @ulled)

F$ IR IATE I H AT & & HROT dAT FS AT & AT gfde=yr AT
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(012) Maths (E)
Question Bank-4 (December, 2022) Date: 08/12/2022

SECTION A

Do as directed :

(A)State whether the following statements are true or false :
(1) All the circles are congruent.

(2) Area of two similar triangles are same.

(3) Zeroes of the equation 6x? + 13x + 6 = 0 are reciprocals of each other.
(4)x*+ x+ % = 0 does not have real roots.

(5) Centre of a circle is a point on the circle.

(6) Itis not possible to obtain any tangent to a circle through a point inside it.

(7) At any point of a circle there can be one and only one tangent.

(B) Choose the correct alternative.

(8) “The circle is divided into two congruent parts by its diameter.” From whichever
part of mathematics this statement comes :-

Arithmetic, algebra, geometry of calculus. Who used this statement for the first time ?

(a) Herbert (b)  Pythagoras
(c) Thales (d) Ramanujan
(9) If then a quadratic equation has no real roots..
(a) D=0 (b) D=0
(©) D>0 (d) D<O

(10) The discriminant of bx?> + ax+c = dis
(@ b?’—4a(b—0c) (b) a%— 4bc+4bd

() b?>— 4a(c—d) (d) a%-— 4ac

(1)



(11) The equation has 3 as one of its roots.
@ x(—-x—-6=0 ) xX*+x—6=0
() x*—x+6=0 (d x*+x+6=0

(12) Common tangents can be drawn for two externally touching circles.
(a) two (b)  three
(c) four (d) only one

(13) Intriangle ABC, AB=6, BC=8, AC=10, then radius of circle touching all the
three sides.
(@ 4 (b) 2
() 3 @ 1

(C)Fill in the blanks :

(14) Perimeters of two similar triangles are in the ratio 4:25.Areas of these triangles
are in the ratio

(15) If one of the root of the equation kx? — 7x+ 6 = 0 is %, then the value of k is

(16) The discriminant of the equation 5x*> — 6x+ 1= 0is

(17) The length of the tangent to a circle drawn from a point outside the circle is 24
cm and the distance of that point from the centre is 25 cm. Then the diameter of
the circle is

(18) The tangent at any point of a circle is to the radius through the
point of contact.

(19) Iftangents PA and PB from a point P to a circle with centre O are inclined to each
other at angle of 70°, then OAB =

(D) Answer in one word / sentence / number :

(20) AABC s an equilateral triangle, in which AD is altitude. If BC = 22 cm, then find
AD.

(21) Findvalue: \/6 +V6+ VO + ...

(22)

Which mathematician derived quadratic formula ?

(2) |



(23) State the formula to find the discriminant of the quadratic equation
ax’+ bx+c=0.

(24) Intriangle ABC, Bisrightangle.If AB =4 and BC=3. Then find the radius of
circle touching all the three sides of the triangle.

(25) What is the name of the common point of the tangent and the circle ?
SECTION B

Do as Directed :

(1) Sides of two similar triangles are in the ratio 2:3. If the area of the smaller triangle is
48 cm?, then find the area of the bigger triangle.

(2) AABC ~ ADEF. Area of AABC is 18 and area of ADEF is 32. If AB=6 then find DE.

(3) Aladder is placed against a wall such that its foot is at a distance of 2.5m from the
wall and its top reaches a window 6m above the ground. Find the length of the
ladder in cm.

(4) In AABC DE || BC.If AD=1.5cm, DB=3 cm, and AE = 1cm then find AC.

(5) If AABC ~ ADEF, AB =4 cm, DE =6 cm, EF =9 cmand FD = 12 cm, then find the
perimeter of AABC.

(6) Two poles of heights 6m and 11m stand on a plane ground. If the distance between
the feet of the poles is 12m, find the distance between their tops.

(7) Find altitude of an equilateral triangle of side 4 cm.

(8) If altitude of two similar triangles are in the ratio 3:5, then find the ratio of area of
these triangles.

(9) Find the roots of the quadratic equation x? — 3x — 10 = 0 by factorisation.

(10) Find two numbers whose sum is 27 and product is 182.

(11) Find the value of k, if quadratic equation 2x* + kx + 3 = 0 have two equal roots.

(12) Find the roots of the quadratic equation 6x*> — x — 2 = 0 by factorization.

(13) Attminutes past 2 pm, the time needed by the minute hand of a clock to show 3

2
pm was found to be 3 minutes less than tz minutes. Find t.

(14) Check whether the following are quadratic equations:
(@ (x+1)?=2(x-3)
(b) (x—2)(x+1)=(x-1) (x+3)

(3) |



(15)

(16)
(17)
(18)

(19)

(20)

(21)

(22)

(23)

(24)

(25)

Meet's mother is 20 years older than him. The product of their ages (in years) 5
years from now will be 800. Find Meet’s present age.

Find the roots of the quadratic equation ax? + bx+c=0 (a # 0).
Solve the equation m +% =—4,

Find the value of discriminant if the difference of the two roots, of the equation
ax’+ bx+c=0,is 3.

Two concentric circles are of radii 5 cm and 3 cm. Find the length of the chord of
the larger circle which touches the smaller circle.

A tangent PQ at a point P of a circle of radius 5cm meets a line through the centre
O ata point Q, so that = 13. Find length PQ.

In a circle with radius r, the length of a chord is r. What is the distance of that
chord from the centre ?

Two concentric circles are of radii 26 and 24. Find the length of the chord of the
larger circle which touches the smaller circle.

A circle touches all the four sides of a quadrilateral PQRS. IF PQ = 7,QR = §,

RS = 10 then find SP.

In a circle with radius 3 cm, two tangents are inclined at angle 60°, then find the
lengths of the two tangents.

If a chord AB subtends an angle of 60° at the centre of a circle, then find the angle

between tangents at A and B.

SECTION-C

Answer the following :

(1) Does the following equation have real roots ? If yes, find them.

8x2+ 2x—3=0

(2) Vrunda’s age is twice the square of Dhara’s age. 8 years from now Vrunda'’s age will

be 4 years more than three times Dhara’s age. Find their present age.

(3) Find the roots of the quadratic equation by applying the quadratic formula.

3x2— 5x+2=0

(4) Find the values of k for the following quadratic equations, so that they have two

equal roots.

(k+1)x*— 2(k+4)x+ 2k=0, k R

(@) |



(5)Find the discriminant of the equation V3 x? + 2x — /3 = 0 and hence find the

nature of its roots. Find them if they are real.
(6) The lengths of tangents drawn from an external point to a circle are equal.

(7) A quadrilateral ABCD is drawn to circumscribe a circle. Prove that AB+CD=AD+BC

(8)Prove that the tangent at any point of a circle is perpendicular to the radius through

the point of contact.

(9) Prove that the parallelogram circumscribing a circle is a rhombus.

(10) ABisachord of length 24 of a circle with centre O and radius 13. The tangents at
A and B intersect at a point P, then find AP.

SECTION D

Answer the following :

(1) Prove that if a line is drawn parallel to one side of a triangle to intersect the other
two sides in distinct points, the other two sides are divided in the same ratio.

(2) Prove that in a triangle, if square of one side is equal to the sum of the squares of the
other two sides, then the angle opposite the first side is a right angle.

(3) AD, BE and CF are medians of a triangle ABC. Prove that

4 (AD? + BE? + CF?) = 3 (AB? +BC? + AC?)
(4) If £B is right angle in AABC, prove that AC? = AB? + BC?
(5) If AABC ~ APQR, Prove that

rem= () = (@) = @)




(12) a1fora (H)
HeTl - 10 UMdh—4 (fgaFaR 2022) . 08/12/2022

HATAE Yo (6 - P, 4 - fgard w@afiaon, 10 - qa)

I : A gl i ¥ YEaguR e @ U AR 25 3@ A waler ol el |
RABT - A 5 0% - 5 AP (FAD P 1 D)
yaded F Remer A F Rju a1 et 5 uslT A gdg R HElEr @ {AHeT A IR
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fasmer - A

FIGER 3R/ Jfaw -

(@)oo Rue a7 § a1 3@ T -

(1) G gd FataH ad & |

(2) & THET SN & &Fh TAH BT T |

(3) 6x2+ 13x+ 6 =0 & dra7 WER fIaidA (2a&d) (Reciprocal) & |

(4) X2+ x+ $=0 & arEdfa do T ¥ |

(5) g T Peg TE g P g ¥ |

(6)gd & 3 ToUd fig & g W @IS 1 Tueh A& e |

(7)9d W & fdg & g A T AR AT Teh & TLhh THelam |

(@) @ RUE I 99 589 YR AT [Adeu gdg ) -

(8) ‘g 3E® AT NI &1 A HEN # oo &ar ¥ 9¢ faue aftd & 3@ a1fta, &=
IO, AT I Bl MO & & 57 9 & 31T §, 39 faure ar qdugA gher

fpga fopam T 2
(A) &C (B) UANIRA (C) Je®@ (D) TATS
(9) A @, a Furd Teewor & adide qd 9 o § |

(a) D =0 (b) D = 0 (c) D > 0(d) D<o0

(10) bx2+ ax+c=d & fafapet =

(@) b?>—4a(b—c) (b) a2 — 4bc+ 4bd
(c) b% — 4a(c— d) (d) a2— 4bc
(1) FAPOT__ S TH A3 |
(@) x*—x-6=0 (b) X2+ x-6=0
(c) xX*—x+6=0 d X +x+6=0
(12) UTER a1 § T A drel ar gdi dr AT TAAF I TP © |
(@ a (b) =

(c) TR (d) Pad TH &1
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(13)

AABC &  GHGIUT §, IfE AB=6, BC=8, AC=10 @& a RHsT & a1 oomsit o

Ty FE A @i e el
(a) 4 (b) 2
(c) 3 d) 1

(M) AT U ¥ 99 38 yhR R TyEr fr gl Hifsw -

(14)

(15)
(16)
(17)

(18)
(19)

&l HARY TXHST & URATT BT U 4:25 & Al Seld &bl Pl Ul

BT |

ke — 7x+6=0 &7 T Il - &, A k Fr PHrord gl |

FHIBIOT 5x2 — 6x+1 =0 & fafdhet €|

gd & Y Ud fig @ v v Fuleh Y ofFaS 24 cm AT 3HBN deg ¥ W 25
cm @ al gd & I B |

gd & TF 3R T Rig & a8 7 How wEw eI &
0 *fegd gd & & TULFE PA 3R PB & &g &1 0T 70° & & OAB =
T |

(T) AT Wi & 3R TP UAsE / ATHT / HE H dIOIT :

(20)

(21)
(22)
(23)
(24)

(25)

AABC HaraTg 39[eT &, TS0l AD oo & | Ifc BC = 22 cm & @ AD &1d HIfST |

o+ Vor VBT o |

feora g7 fea o=t & geamfia R 2

feara gHIRIOT ax? + bx+c =03 fow fafawmer da & &1 g7 QfEw |

AABC # B HHMBIUT &, AB = 4 3R BC = 3 & a BT &1 Nl o3t & Tudl
arer ga 1 B da &

g 3R Tudieh & 39Hfas foig @ @1 Ped € ?
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fasmer - B
» fAFT usl & s ST | (YRS F 2 3ih)
(1) & FHFET ST T HIFT YoM S AT H IFUIT 2:3 &, I BIC FHST & a1 7%e
48 2@, ar 93 RS & &Fhd g HU |
(2) AABC ~ ADEF & | AABC &7 &19%el 18 3{X ADEF T &19%ef 32 & | AB=6 @, df DE |1 d
HfST |
(3) T WA fFE far W 7 ybR e g8 ¥ 76 saa fwen B Slar & 2.5 m & gt W
¥ dur sHE U0 W A § 6 m Y FAs W Al va s aF ugaar § | WA f;
dFaTs Ad AT | (cm F A1 H)
(4) 39T ABC # DE || BC ¥ | If& AD = 1.5 cm, DB = 3 cm 4T AE = 1 cm d AC <
AT |
(5) I&T AABC ~ADEF, AB=4cm, DE=6cm EF=9cm 3R FD=12cm, d AABC &I URAM
Ad HfST |
(6)ar @R foewdhr Famsar em 3R 11m & a1 ¥ FAT HfF W @S ¥ | I s urg Riga
& dra i gt 12m ¥ dr 345 308 A & g Hr g a Hifow |
(7)4cmawmﬁm1§ﬁ§3$m+qiﬁrm+méq1|d€b‘iI
(8) &l HATT ATl o ofFa &I Ui 3 : 5 T ol I & & Ahel I IFUd AT HIAT |
(9) feama FleoT X2 — 3x— 10 =0 & &l UGS AN & A1 B |
(10) OHr & FEAC AG BT, e T 27 AR UEH 182 F |
(1) 2x>+ kx+3 =0 & FA Il & dl k H HrAT AT U |
(12) TEHTd HHABIOT 6x° — x—2 =0 & el IUHAES gRI AT DT |
(13) w51 # AU & 2 Io t TAAE g ¥ | v & AT #i A AUR & 3 I F GHI
aefd & fe © fifie & 3 e @ W A smavaar §, A t @ A |
(14) T gpoT fgard GaAeor § a1 J@ aan |
(@) (x + 1)2=2(x—23)
b)(x —2) (x +1) = (x -1)(x+3)
(15) AT A AT 3T 20 AW T & | 37T T 5 A¥ I 3TDT 3H Il alell G&ATIHT &1
IUIAHe 800 a¥ g a #Hd &I adAT 3H AT B
(16) fEama TfeIoT ax? + bx+c=0(a #0) & FT AT B |
(17) WSO m + = =—4 FT g A B |
(18) ax?+ bx+c=0 & & Hal & FR 3 & ar fAfdhd d1 AF AT B |
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(19) & FHABAT gai & BT 5 cm 3R 3 cm & | 92 g & Shar 1 ga B TYY B
%, i Shar &1 dars A1d Y |
(20) g & Peg 0 H A IGRA dlell Teh WM gd & Teh TS Al Q g & ufresfed s
T | Tude a1 TUS g P E, ga 1 e 5 @ 3R 0Q = 13 @ a PQ AT HifT |
(21) r AT & FAT G gd H r AT P Siar gd F dheg A fhaal gl W FAT gl 2
(22) & GHANBET gdi T FATT HAA: 26 3R 24 § 93 gq & Sfar ai¢ ga A1 arer ga
B TN FA & I 39 Shar T TFS A HU
(23) UP gd TGSt PQRS H Gl o3t o Tuey e & IfE PQ = 7, QR = 8, RS = 10
e dl SP ¥ d Hifew |
(24) 3 cm 3531 aTl UF g & &l TUAHT & & H HIOT 60° & AT ST TULRI I FTFAS
SIcECTUN
(25) ofg T Shar AB, g & dheg W 60° #T HIUT FAT ol A 3R B fdg W g=1w 1w
Tuddr & T F PO AT B |
famr - €
» e vt & 51 AP (0_F & 3 3H6)
(1) T FHAIOT & AEdide Tol & ? TG Aedides AT Hedead A & al I AT P |
82+ 2x—3=0
(2)ger & 37 GRT T 3H & G B I & | 8 AV dIg gl H 3H, URT h1 3H H 3 A @
4 3% el A Qat Hr add AT 37 AT FA |
(3) faFr fgara G &1 g T A Agg F AT B |
3x2— 5x+2=0
(4) A feara Gafeor & g aredide 3 GAT & dr k T A w1 d B |
(k + 1) x¥2—2(K+4)x+ 2k=0, kK R
(5) fgara FeleRor V3x2 + 2x— V3 =0 @ fafamex 1d AT | 39 W F Fqai A upia
A HifeT | afg g & qF aafas & ar 99 HiAw |
(6)arer g & g WX Wi ¢ TU @3l H1 AT W e ¥ | g HfAw |
(7) U gd & & URIT Th IJHT ABCD i arm ¢ | fag Hifaw b
AB + CD = AD + BC
(8)gd & fopelt fiig W <l Y@ el feiig & Sy arell Bsar X o @il & | &g HifSw |
(9) g HfST 6 e ga & aRerd AR IS FHAIGHS A & |
(10) 0 Piead 13 Far arel g &1 ST AB & | AB = 24 &, gd & fdg A 3iR B & &=w
7T T P fdg W gfdesfed @i & a AP | &3 |
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x» T sl & 3 Q9T . (AP & 4 3F)

(1) IfE fepell TS &1 Teh o & FACR i al Pt 1 Feat- ey feigait W ufdese
A & fow e W@ di=h ST, @ T 3 ar 4T U @ 3gud A Renfaa @
ST &

(2) afg freT Regsr T T oo T a9 3T & H3NT &F gaif & AT S WX F ar usel
HST T FFHWE PIOT FHBIUT BT & |

(3) AABCH AD, BE 3R CF #fegem &, af fg Hifav &

4 (AD? +BE2+CF2) = 3 (AB?+BC2+ AC?)
(4)af& AABC & /B @HAPIUT & dl, AC? = AB? + BC? g HIfSiT |
(5) TS AABC ~APQR & a, g fifaw &6
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